L—H—4.7 20219 ARANY TR XIs HER

2021/12/19 15:46

2021V 2=T s 2— R JYRSAIVTS BIL-A F2L—A FEIL—A FEHL—A FOL—A

W R H L—H¥—4.7 JEGHE 3.5~5 m/sec|/EiE 6~8 n/sec|Ei#E 6~8 n/sec|EiE JEE m/sec | EHE m/sec | EHE

Hf 12H18H-19H JEL ] 90  BE[mm 250  EE[Er 250  BE|)@m JEL A JE JE

SREEL 19 #E S| 14537743 [SIERI 1215347 [SIRERI 1352457 Sl SIFF NS NS

BT 15:11:37 |#T  13:35:46 3T 14:32:42 [T ®T ®T ®T B ESS

Ent B’FL - F gri@ =7 —h ENE] NENL | 45 05 | 25 NE | NERL | 75| 25 0E | NEQT | 45 a5 | 5 | #5NE | #5NE 55| e 15 | NEAT
10 |i=8& B2R 196486 |#HE)B1—XIvro5T 6 6 6| 1 1 1 1 11 8l 1
13 |FEBERE 219178 [IDBEIVRIZTLa=7T 3 3 3| 4/ 4/ 4 3 3/ 3 10 2
14 | TRERAKR 184018 JIMBEIAYRIZTTDa=T 8 8 8| 3| 3 3 2 2| 2 13 3
12 |3RE 99 219164 JIDEIVRIZTLa=7T 1 1 11 e 6 6 71 7/ 7 14| 4
11 | FE #kH 180159 |JIMBEIYRIZT a7 12| 12| 12| 2| 2| 2| 4] 4| 4 18 5
1 |H A HEE 220185 |FE7YU—k 4 4 4 71 71 71 8 8/ 8 19] 6
19 |iZ@A T 203074 |BRREt—VUTER 2 2 2 9| 9f 9 9 9 9 20( 7
6 |El #= 111951 |YMFS Laz=73ayhRY—ILEL 10| 10| 10| 5/ 5 5 6| 6| 6 21| 8
2 [KFHER 173736 |[E[EBEIST 9| sTP| 10| 8/ 8 8 5 5 5 23] 9
16 |&2%& H&E 198071 |[EEE—YUVTRI—IL 7 7 7\ 11| 11| 11| 13] 13] 13 31| 10
9 |fTiEXHE 123487 |@#E)NB1—RIvoT5T 5 5 5| 13| 13| 13| 15/ 15| 15 33| 11
3 |dtiE EA 199062 |1 —RF—LHEHR 11 11| 11| 10| 10| 10| 12| 12| 12 331 12
7 |HFE BXE 173423 |YMFS 2a=—73avbRy—)LEWL 13 13| 18] 12| 12| 12| 11| 11| 11 36 13
18 |FRIL 7 203075 |BEREtE—)I T ER 17| 17| 17| 15| 15| 15| 10| 10| 10 42| 14
17 [#rshsHLy 213914 B4 EY1=T 14| STP| 15| 14| 14| 14| 14| 14| 14 431 15
5 /h#k BRE 151757 |YMFS Pa=73avkRH—ILEL 16| 16| 16 DNF| 20| 16| 16| 16 52| 16
4 IBEFH 151762 |EBiE+—1U2T 95T 18| STP| 19| 16| 16| 16| 17| 17| 17 52 17
8 |l #ibHm 103860 [IERXIL/NFZERE—DTER 15 15| 15 DNF| 20 RET| 20 55( 18
15 | S EBIEAEH 145709 IO EIAYRISTDa=T DNC| 20 RET| 20 RET| 20 60| 19
L—2ZB/E

A KER
TurANEEE

0




